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The Geelong College

VCE Information Technology 2005
Unit 2
Outcome 3 Assessment Task
Riding for the Disabled Association Victoria (RDAV) is a not for profit organisation which oversees some 40 centres where disabled people are given therapy using horse riding activities. This assists them to develop self esteem and gives people with disabilities, particularly those in wheelchairs, an exciting new freedom to move around.

The head office consists of a manager and her secretary, a fundraiser and his assistant, the head coach and her assistant and a receptionist. Each person has a standalone computer with a black and white printer and the receptionist has the internet connected on her computer so she can receive emails. At present all publications are sent out in the mail to the centres around Victoria. RDAV would like to get a colour laser printer for all the staff to use, but they are still very expensive.

The manager would like to develop a database of all riders and the fundraiser would like a database of the donors. Their assistants would also need access to these databases and the manager would need to access both databases.

The head office is in a two story building with a number of small rooms used as offices for the various people.

You have been asked to advise RDAV regarding the installation of a new network.

a) Identify three advantages to RDAV of installing a network. (3)

b) Identify one positive and one negative economic effect of installing a network in the head office. (2)

Positive 

Negative


c) Each month the manager puts together the articles to be included in the monthly newsletter. The receptionist types the newsletter on her desktop computer in Microsoft Publisher and after proof reading it is printed on a black and white laser printer and posted out. 

List the 5 components of an information system and for each component describe the relevant part of the newsletter system. (5)
	Component of Information System
	Description

	
	

	
	

	
	

	
	

	
	


d) You could network all the computers with a peer to peer network or a client server network? Which would you recommend? Justify your answer. (2)
e) Assume the client server network was chosen. Identify 4 items of hardware they would need to purchase. (4)
1


2

3


4

f) Identify an item of software required to operate the network and describe its function (2)

g) It has been decided that the receptionist’s computer have the following naming and numbering set in her network settings.

Computer Name: Reception

Workgroup: RDAV

IP address: 192.168.0.10

Subnet mask: 255.255.255.0

Complete the table below for the manager and her assistant’s computers. (4)

	
	Manager
	Manager’s Assistant

	Computer name
	
	

	Workgroup
	
	

	IP Address
	
	

	Subnet mask
	
	


h) After considering the options, it has been decided that a star topology be used for the new network. Give one advantage and one disadvantage of using this topology. (2)
i) The manager is concerned about the security and privacy of the data on the databases. She sees possible threats from both internal (staff accessing personal details they shouldn’t see) and external (hackers getting into the database from the internet).

List one measure she could take to ensure the privacy and security from each threat. (2)
Internal 



External



j) What could be one ethical issue the employer might face by providing internet access for his staff? (1)
k) How would you ensure that the data in the databases is not lost or corrupted (1)

Hhkjhdsfa;sdjkh 
l) What type of cable would you recommend for the network? Justify your answer. (2)
m) What type of network would this be? LAN, MAN or WAN. Justify your answer (2)

n) Draw a network diagram for the RDAV network labelling all components. (4)
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